

Tillsonburg & District RPC

Master Loft Report (Young Birds)

Releases: C, D

Distances: S, M, L

Includes: Cocks, Hens, Young

1	R. Morris Loft					1266.8 Pts
	(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	162 km	4645 Pts / 55 shipped	84.4 Pts
	(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	162 km	3538 Pts / 51 shipped	69.3 Pts
	(SWOA) 7D MADOC	2025-09-21	156 birds	301 km	2695 Pts / 20 shipped	134.7 Pts
	(SWOA) 4C PETERBOROU	2025-08-30	246 birds	232 km	2185 Pts / 30 shipped	72.8 Pts
	(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	162 km	2044 Pts / 24 shipped	85.1 Pts
	(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	162 km	1934 Pts / 24 shipped	80.5 Pts
	(SWOA) 8D MADOC	2025-09-27	88 birds	301 km	1700 Pts / 20 shipped	85.0 Pts
	(SWOA) 5D PETERBOROU	2025-09-06	173 birds	232 km	1602 Pts / 23 shipped	69.6 Pts
	(SWOA) 9C PETERBOROU	2025-10-04	112 birds	232 km	1568 Pts / 23 shipped	68.1 Pts
	(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	424 km	1539 Pts / 16 shipped	96.1 Pts
	(SWOA) 10D SMITHS FA	2025-10-12	88 birds	424 km	1439 Pts / 23 shipped	62.5 Pts
	(SWOA) 8C HWY 7&38	2025-09-27	81 birds	374 km	1437 Pts / 15 shipped	95.8 Pts
	(SWOA) 3C PETERBOROU	2025-08-23	244 birds	232 km	1345 Pts / 30 shipped	44.8 Pts
	(SWOA) 5C MADOC	2025-09-06	265 birds	301 km	1317 Pts / 30 shipped	43.9 Pts
	(SWOA) 6C PERTH	2025-09-13	123 birds	408 km	1205 Pts / 16 shipped	75.3 Pts
	(SWOA) 6D PETEROROU	2025-09-13	185 birds	232 km	803 Pts / 24 shipped	33.4 Pts
	(SWOA) 9C SMITHS FAL	2025-10-04	125 birds	424 km	570 Pts / 12 shipped	47.5 Pts
	(SWOA) 10C HAWKESBUR	2025-10-12	73 birds	558 km	126 Pts / 7 shipped	18.0 Pts

2	Magic Medeiros					883 Pts
	(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	424 km	3428 Pts / 30 shipped	114.2 Pts
	(SWOA) 9C SMITHS FAL	2025-10-04	125 birds	424 km	2820 Pts / 24 shipped	117.5 Pts
	(SWOA) 5C MADOC	2025-09-06	265 birds	298 km	1921 Pts / 29 shipped	66.2 Pts
	(SWOA) 10C HAWKESBUR	2025-10-12	73 birds	558 km	1915 Pts / 23 shipped	83.2 Pts
	(SWOA) 8C HWY 7&38	2025-09-27	81 birds	372 km	1872 Pts / 18 shipped	104.0 Pts
	(SWOA) 3C PETERBOROU	2025-08-23	244 birds	227 km	1308 Pts / 25 shipped	52.3 Pts
	(SWOA) 6C PERTH	2025-09-13	123 birds	407 km	973 Pts / 15 shipped	64.8 Pts
	(SWOA) 8D MADOC	2025-09-27	88 birds	298 km	723 Pts / 11 shipped	65.7 Pts
	(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	150 km	648 Pts / 14 shipped	46.2 Pts
	(SWOA) 7D MADOC	2025-09-21	156 birds	298 km	540 Pts / 7 shipped	77.1 Pts
	(SWOA) 6D PETEROROU	2025-09-13	185 birds	227 km	377 Pts / 16 shipped	23.5 Pts
	(SWOA) 9C PETERBOROU	2025-10-04	112 birds	227 km	352 Pts / 9 shipped	39.1 Pts
	(SWOA) 10D SMITHS FA	2025-10-12	88 birds	424 km	187 Pts / 10 shipped	18.7 Pts
	(SWOA) 4C PETERBOROU	2025-08-30	246 birds	227 km	147 Pts / 21 shipped	7.0 Pts
	(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	150 km	30 Pts / 17 shipped	1.7 Pts
	(SWOA) 5D PETERBOROU	2025-09-06	173 birds	227 km	11 Pts / 6 shipped	1.8 Pts

3	B&S BOGUE					732.3 Pts
	(SWOA) 10D SMITHS FA	2025-10-12	88 birds	440 km	2144 Pts / 13 shipped	164.9 Pts
	(SWOA) 10C HAWKESBUR	2025-10-12	73 birds	574 km	1745 Pts / 13 shipped	134.2 Pts
	(SWOA) 5C MADOC	2025-09-06	265 birds	315 km	1326 Pts / 27 shipped	49.1 Pts
	(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	170 km	954 Pts / 28 shipped	34.0 Pts
	(SWOA) 9C SMITHS FAL	2025-10-04	125 birds	440 km	909 Pts / 26 shipped	34.9 Pts
	(SWOA) 6C PERTH	2025-09-13	123 birds	423 km	726 Pts / 6 shipped	121.0 Pts
	(SWOA) 3C PETERBOROU	2025-08-23	244 birds	245 km	575 Pts / 14 shipped	41.0 Pts
	(SWOA) 7D MADOC	2025-09-21	156 birds	315 km	546 Pts / 10 shipped	54.6 Pts
	(SWOA) 6D PETEROROU	2025-09-13	185 birds	245 km	493 Pts / 20 shipped	24.6 Pts
	(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	440 km	413 Pts / 14 shipped	29.5 Pts

Tillsonburg & District RPC

Master Loft Report (Young Birds)

Releases: C, D

Distances: S, M, L

Includes: Cocks, Hens, Young

(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	170 km	342 Pts / 28 shipped	12.2 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	170 km	240 Pts / 15 shipped	16.0 Pts
(SWOA) 8C HWY 7&38	2025-09-27	81 birds	389 km	238 Pts / 25 shipped	9.5 Pts
(SWOA) 4C PETERBOROU	2025-08-30	246 birds	245 km	184 Pts / 27 shipped	6.8 Pts

4 N&E Oud 548.3 Pts

(SWOA) 4C PETERBOROU	2025-08-30	246 birds	238 km	3320 Pts / 24 shipped	138.3 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	307 km	2026 Pts / 26 shipped	77.9 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	238 km	1722 Pts / 30 shipped	57.4 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	165 km	890 Pts / 40 shipped	22.2 Pts
(SWOA) 6C PERTH	2025-09-13	123 birds	414 km	829 Pts / 29 shipped	28.5 Pts
(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	165 km	402 Pts / 7 shipped	57.4 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	238 km	375 Pts / 8 shipped	46.8 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	165 km	221 Pts / 5 shipped	44.2 Pts
(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	431 km	196 Pts / 4 shipped	49.0 Pts
(SWOA) 6D PETERBOROU	2025-09-13	185 birds	238 km	133 Pts / 5 shipped	26.6 Pts

5 Joe Koster 464.1 Pts

(SWOA) 4C PETERBOROU	2025-08-30	246 birds	258 km	920 Pts / 17 shipped	54.1 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	184 km	825 Pts / 27 shipped	30.5 Pts
(SWOA) 7D MADOC	2025-09-21	156 birds	328 km	761 Pts / 19 shipped	40.0 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	258 km	638 Pts / 17 shipped	37.5 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	328 km	607 Pts / 19 shipped	31.9 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	184 km	322 Pts / 5 shipped	64.4 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	258 km	312 Pts / 4 shipped	78.0 Pts
(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	452 km	219 Pts / 2 shipped	109.5 Pts
(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	184 km	75 Pts / 5 shipped	15.0 Pts
(SWOA) 8C HWY 7&38	2025-09-27	81 birds	401 km	26 Pts / 8 shipped	3.2 Pts

6 P&I Priester 410.1 Pts

(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	181 km	1426 Pts / 42 shipped	33.9 Pts
(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	181 km	1077 Pts / 44 shipped	24.4 Pts
(SWOA) 6D PETERBOROU	2025-09-13	185 birds	257 km	1033 Pts / 15 shipped	68.8 Pts
(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	452 km	769 Pts / 8 shipped	96.1 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	327 km	512 Pts / 14 shipped	36.5 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	257 km	397 Pts / 11 shipped	36.0 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	257 km	356 Pts / 19 shipped	18.7 Pts
(SWOA) 7D MADOC	2025-09-21	156 birds	327 km	266 Pts / 11 shipped	24.1 Pts
(SWOA) 10C HAWKESBUR	2025-10-12	73 birds	586 km	156 Pts / 4 shipped	39.0 Pts
(SWOA) 8D MADOC	2025-09-27	88 birds	327 km	149 Pts / 11 shipped	13.5 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	181 km	122 Pts / 9 shipped	13.5 Pts
(SWOA) 4C PETERBOROU	2025-08-30	246 birds	257 km	108 Pts / 19 shipped	5.6 Pts

7 Roland Paret 376 Pts

(SWOA) 5D PETERBOROU	2025-09-06	173 birds	232 km	1227 Pts / 21 shipped	58.4 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	232 km	1151 Pts / 20 shipped	57.5 Pts
(SWOA) 9C SMITHS FAL	2025-10-04	125 birds	426 km	922 Pts / 21 shipped	43.9 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	159 km	819 Pts / 38 shipped	21.5 Pts
(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	159 km	772 Pts / 41 shipped	18.8 Pts

Tillsonburg & District RPC

Master Loft Report (Young Birds)

Releases: C, D

Distances: S, M, L

Includes: Cocks, Hens, Young

(SWOA) 6D PETEROROUGH	2025-09-13	185 birds	232 km	695 Pts / 30 shipped	23.1 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	302 km	594 Pts / 17 shipped	34.9 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	159 km	546 Pts / 20 shipped	27.3 Pts
(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	426 km	397 Pts / 13 shipped	30.5 Pts
(SWOA) 10C HAWKESBUR	2025-10-12	73 birds	560 km	359 Pts / 9 shipped	39.8 Pts
(SWOA) 4C PETERBOROU	2025-08-30	246 birds	232 km	279 Pts / 18 shipped	15.5 Pts
(SWOA) 7D MADOC	2025-09-21	156 birds	302 km	90 Pts / 19 shipped	4.7 Pts
(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	159 km	3 Pts / 20 shipped	0.1 Pts

8 Guido Madrusan 333.2 Pts

(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	162 km	1932 Pts / 48 shipped	40.2 Pts
(SWOA) 6C PERTH	2025-09-13	123 birds	407 km	1067 Pts / 29 shipped	36.7 Pts
(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	162 km	961 Pts / 25 shipped	38.4 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	300 km	886 Pts / 29 shipped	30.5 Pts
(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	162 km	818 Pts / 35 shipped	23.3 Pts
(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	424 km	754 Pts / 27 shipped	27.9 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	162 km	711 Pts / 26 shipped	27.3 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	232 km	580 Pts / 27 shipped	21.4 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	232 km	493 Pts / 20 shipped	24.6 Pts
(SWOA) 7D MADOC	2025-09-21	156 birds	300 km	487 Pts / 16 shipped	30.4 Pts
(SWOA) 4C PETERBOROU	2025-08-30	246 birds	232 km	425 Pts / 26 shipped	16.3 Pts
(SWOA) 9C PETERBOROU	2025-10-04	112 birds	232 km	219 Pts / 25 shipped	8.7 Pts
(SWOA) 6D PETEROROUGH	2025-09-13	185 birds	232 km	123 Pts / 19 shipped	6.4 Pts
(SWOA) 10D SMITHS FA	2025-10-12	88 birds	424 km	11 Pts / 10 shipped	1.1 Pts
(SWOA) 10C HAWKESBUR	2025-10-12	73 birds	558 km	1 Pts / 17 shipped	0.0 Pts

9 D. Cvetkovich 279.5 Pts

(SWOA) 9C SMITHS FAL	2025-10-04	125 birds	426 km	840 Pts / 12 shipped	70.0 Pts
(SWOA) 6C PERTH	2025-09-13	123 birds	408 km	711 Pts / 21 shipped	33.8 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	155 km	539 Pts / 30 shipped	17.9 Pts
(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	155 km	473 Pts / 31 shipped	15.2 Pts
(SWOA) 10D SMITHS FA	2025-10-12	88 birds	426 km	448 Pts / 20 shipped	22.4 Pts
(SWOA) 6D PETEROROUGH	2025-09-13	185 birds	230 km	441 Pts / 9 shipped	49.0 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	230 km	215 Pts / 15 shipped	14.3 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	230 km	178 Pts / 16 shipped	11.1 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	155 km	158 Pts / 15 shipped	10.5 Pts
(SWOA) 7C SMITHS FAL	2025-09-21	158 birds	426 km	142 Pts / 14 shipped	10.1 Pts
(SWOA) 9C PETERBOROU	2025-10-04	112 birds	230 km	131 Pts / 12 shipped	10.9 Pts
(SWOA) 4C PETERBOROU	2025-08-30	246 birds	230 km	95 Pts / 15 shipped	6.3 Pts
(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	155 km	44 Pts / 15 shipped	2.9 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	300 km	35 Pts / 16 shipped	2.1 Pts
(SWOA) 7D MADOC	2025-09-21	156 birds	300 km	33 Pts / 11 shipped	3.0 Pts

10 Bev Wiltsie 181 Pts

(SWOA) 6D PETEROROUGH	2025-09-13	185 birds	271 km	1598 Pts / 28 shipped	57.0 Pts
(SWOA) 4C PETERBOROU	2025-08-30	246 birds	271 km	649 Pts / 23 shipped	28.2 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	341 km	370 Pts / 10 shipped	37.0 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	271 km	309 Pts / 20 shipped	15.4 Pts
(SWOA) 7D MADOC	2025-09-21	156 birds	341 km	254 Pts / 14 shipped	18.1 Pts

Tillsonburg & District RPC

Master Loft Report (Young Birds)

Releases: C, D

Distances: S, M, L

Includes: Cocks, Hens, Young

(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	195 km	225 Pts / 25 shipped	9.0 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	195 km	156 Pts / 24 shipped	6.5 Pts
(SWOA) 9C SMITHS FAL	2025-10-04	125 birds	466 km	100 Pts / 11 shipped	9.0 Pts
(SWOA) 9C PETERBOROU	2025-10-04	112 birds	271 km	11 Pts / 13 shipped	0.8 Pts

11 Qtr Line Loft 161.2 Pts

(SWOA) 9C PETERBOROU	2025-10-04	112 birds	226 km	1380 Pts / 30 shipped	46.0 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	226 km	855 Pts / 30 shipped	28.5 Pts
(SWOA) 8D MADOC	2025-09-27	88 birds	294 km	767 Pts / 30 shipped	25.5 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	294 km	627 Pts / 30 shipped	20.9 Pts
(SWOA) 7D MADOC	2025-09-21	156 birds	294 km	457 Pts / 18 shipped	25.3 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	226 km	224 Pts / 29 shipped	7.7 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	155 km	180 Pts / 30 shipped	6.0 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	155 km	80 Pts / 60 shipped	1.3 Pts

12 BDR Loft 155.1 Pts

(SWOA) 6C PERTH	2025-09-13	123 birds	418 km	306 Pts / 7 shipped	43.7 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	166 km	234 Pts / 20 shipped	11.7 Pts
(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	166 km	223 Pts / 11 shipped	20.2 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	311 km	195 Pts / 12 shipped	16.2 Pts
(SWOA) 6D PETERBOROU	2025-09-13	185 birds	241 km	170 Pts / 6 shipped	28.3 Pts
(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	166 km	169 Pts / 18 shipped	9.3 Pts
(SWOA) 4D STOUFFVILL	2025-08-30	136 birds	166 km	138 Pts / 9 shipped	15.3 Pts
(SWOA) 3C PETERBOROU	2025-08-23	244 birds	241 km	64 Pts / 13 shipped	4.9 Pts
(SWOA) 5D PETERBOROU	2025-09-06	173 birds	241 km	40 Pts / 10 shipped	4.0 Pts
(SWOA) 4C PETERBOROU	2025-08-30	246 birds	241 km	22 Pts / 14 shipped	1.5 Pts

13 Wolfgang Weber 33 Pts

(SWOA) 6D PETERBOROU	2025-09-13	185 birds	272 km	357 Pts / 13 shipped	27.4 Pts
(SWOA) 1C STOUFFVILL	2025-08-02	292 birds	196 km	100 Pts / 19 shipped	5.2 Pts
(SWOA) 2C STOUFFVILL	2025-08-09	427 birds	196 km	8 Pts / 17 shipped	0.4 Pts

14 Koczi Loft 27 Pts

(SWOA) 3D STOUFFVILL	2025-08-23	197 birds	193 km	107 Pts / 7 shipped	15.2 Pts
(SWOA) 5C MADOC	2025-09-06	265 birds	335 km	71 Pts / 6 shipped	11.8 Pts